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2)

3)

4)

Consumer surplus means

(A) Difference between actual price and the price consumer is willing to
pay

(B) Difference between Market price and nominal price

(C) Difference between wholesale price and retail price

(D) None of the above

OVLREN BPTZ S DOTT,

(A) cf)d% 23S B VLIRENCIN BRBLD ATNWH BSNY OVCEReS

(B) =03 BS D TR[P0T B35S IRHDIT DVCRRS

(C) Aned &S ) WBYT XBSNY IR OVCEReS

(D) BT XRYTR ©Y

1s the basis of law of the demand
(A) Law of diminishing marginal utility
(B) Law of Equi - marginal utility
(C) Consumer preference
(D) Revealed preference

%R A0NTT  ¢3500moNTS
(A) QYBOD AEB[IVOT BOYED VOV
B) 7R =003 338357135@

(C) wngdeen OB

(D) @&mg WO

Under Indifference curve analysis when income increases, budget line shifts:
(A) Towards right (B) Towards left
(C) No change (D) Downwards

Boorey, ©30CS DFERBODR SWOOH BN, STIWOD TeBOR FENT0Z
TVYLITOTOTR:

(A) wORGR B) ~BRER

(C) wTwenTm Ay (D) %@%

When there is a decrease in demand the demand curve .
(A) Moves towards right (B) Moves towards left

(C) Remains unchanged (D) Horizontal to the X axis
L3eRFOIN FRIVOSVTON, WPeRF Beadodw

(A) wondn ?3@7:’}33}3 (B) @C%% 23@&3}3

(C) wTNRS AT (D) X@g%é REIOTONTOBT
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5) Relative elasticity means
RT3 ST TIZ NO0TT
w @ Q) 3
(A) e=1 B) e>1
(©) exl D) e=0

6) Isoquant curves are also known as
(A) Production indifference curve
(B) Production utility curve
(C) Consumption indifference curve
(D) Community indifference curve
BRI YT, TeABNTDI), Soerie ITONTIT
(A) w3TT Bowaed, =3 3eas (B) wvzoms 2dsydee Sesl
(C) oxgdeen Bovaed, @33 Beas (D) m&0Tood Boores, w3 3eas

7) Under perfect competition, demand curve is
(A) Downward sloping from left to right
(B) Upward moving from left to right
(C) Horizontal to X axis
(D) Horizontal to Y axis
TOTReOF TTeeEs [PTVFLIOD eRT Tesd
(A) QTBLOT we;éé QYT DTN
B) QATBLOT w@%é DTBNDTONTOBT
©) Xeﬂgﬁé RTINS
(D) Y@g%é RETONDZTI

8) Dumping is a sort of

(A) Price discrimination (B) Price determination

(C) Output determination (D) None of the above

TBOLOTF 20TV 2RO

(A) o3¢ SDICICV (B) 233 QpoF T3

© em%ﬁol QPoFTT (D) cmxBe 9L
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9) Kinked demand curve is given by

(A) Edgeworth (B) Cournot

(C) Sweezy (D) Chamberlin

LRNT L3eRT TesBORT), eRWBIT

(A) STHTE (B) e

(C) Agese (D) BowTdFF
10) The theory of excess capacity is a feature of

(A) Monopoly (B) Oligopoly

(C) Monopolistic competition (D) Duopoly

B|O 3T RTRHOZ B3 BRTFLOD ©FED

(A) DT 7O (B) wmxRS e

(C) o3 ﬁdm@w (D) %3 Ty

11) Macro economics deals with
(A) individual prices and quantities
(B) aggregates and averages of the system
(C) Issues relating to firms and units
(D) Consumer and producer behavior
AN, ST TR eﬁmﬁm TA QTOD
(A) doﬁa%% Fries 3 msm
(B) ww%osa ?/omé mgn@o m@g FTORONLD
(C) woss wwsﬁ@o . FOWORAT DTOIND
(D) wBieen B QWTHIT SIS

12) National income differ from Net National Product at Market Prices by the
amount of
(A) Current transfer from the rest of the world
(B) Netindirect taxes
(C) National debt+ interest rate
(D) Net market borrowings
TOIRIOD W) TR, LS0NQ  Tafeod AFF WIIT ITWRT
CRlsWNSlelwl
(A) DTEBNPOT TOWD 2T 2390 [MOFBFHNRLD
(B) ¢ wcﬁ,@e% clolatatsy
(© Uoweofo we + WRTT
(D) awe; mms@s We)mfo
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13) One of the reasons for demand pull inflation is
(A) Increase in cost of production
(B) Increase in the rate of taxes
(C) Rise in the prices of raw materials
(D) Increase in money supply
83 ISNIPNYY 3P WeRd B93 THEOTVYTT BTN
(A) ITT 5?,%63625 N0%
(B) 3oR TTTIS %?,;s%f
©) 623% AORNNE BSNEDT é?,;a;@é
(D) e m@@ﬁoﬁa@ﬁ %z;s%f

14) The phenomenon of rising prices and unemployment is called

(A) Hyperinflation (B) Spike inflation
(C) Deflation (D) Stagflation
Zbdbdraseﬁd BRT STRTVT S DOTODZ, LeriT,ZTIT.
(A) N&Ne0T TEOTLYT (B) Rozw3T TEOTNLT
(C) &8 a3 (D) mwE3o

15) Public expenditure is a part of
(A) Monetary policy (B) Fiscal policy
(C) Foreign exchange policy (D) Disinvestment policy
TR LT 53%@ B3 FYNT O30T SO TN 9O0JONT?
(A) TR Jed (B) ooy B3RS e
(C) QTed LATDOD e (D) me&% HoTB= e

16) In Keynesian theory effective demand means
(A) Total revenue of the system
(B) Total spending of the system
(C) Total revenue - total spending in a system
(D) Total exports and imports
Eepve) ATRYOTTY TOFITO e 2033
(A) a&e :séasﬁ@ow 2,83, STV
(B) a&e eﬁéwﬁ@oia 2063 ﬁa;;
©) wéwfgpoda 283 BTIVOD WY da;sd SN BIF
(D) 2tk TN B ST
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17) In Keynes theory, the short run consumption is a function of
(A) Disposable personal income
(B) Supply of goods and services
(C) Resource endowments of the system
(D) Marketing and advertisement
Evepve) %m@oéd TFOT WURTHODNY WLBRENT IGOFTTY ORI
(A) éozéoroiramé ﬁéofnﬁﬁ Slaplow
(B) @T® D FeIne m%é
©) wéw%oja ROTIROT %@ﬁéﬁ%
(D) =5o00e3 wéa:gp B 230 CTHI

18) According to Keynes, saving is determined by

(A) income (B) rate of interest
(C) liquidity preference (D) marginal utility
3¢ TR0 TFOO YVYTIONT TRV JTOFTT O30T ?
(A) 0D B) w&@ o]o}
©) gwém@@ (D) 2em008 Bo3yed
19) The volatile component of Keynesian aggregate demand is
(A) Consumption expenditure (B) Investment expenditure
(C) Taxes and public expenditure (D) Total monetary expenditure
3eTFTRT N, L3eRFONY W03 BOBVWT WONY CIPRYT?
(A) PR 5?,;3 (B) mnp&% 5?,;3

(C) Bonnwd & TTFHRIT da;j (D) et TeamRd mg

20) According to Keynes investment is determined by
(A) The variable cost and fixed cost
(B) The rate of interest and marginal efficiency of capital
(C) The discounting technique and payback period
(D) The rate of interest + rate of inflation
3¢ TR0 TS0 TRRFOD JGOFTF
(A) ST D) A o} ﬁa;;
(B) 28 T DB WOBIIT ACTIOZ d§§
(C) Are® 208 ) IO TWTAECD TR
(D) 2@ TT + TeTHy)TT TT
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21)

22)

23)

24)

25)

Given the function, y = a + bx, b represents:

(A) Constant (B)  Parameter

(C) Slope (D) Intercept
BRETOE WOWT y =a + bx I, b o3 CIRRTII, BRI

(A) %@Uoo% (B) T3R,00e0EIT”

(C) a9 D) s

Consider the function y = x + 5x° + x'3, the derivative dy/dx is:
BREITOT WOWT y =x + 5x° + x1°T BOBeeds dyldx:

(A) 1+445x3+13x12 (B)  45x%+13x"

(C) 0+45x3+13x"12 (D)  1-45x*-13x"2
Which of the following is likely to be the price elasticity of demand for

food?
STO0T XS Wl %@m@ﬁ%%@ 83 IINIYNYY ACPRPTONTLTITY?

(A) e>1 B) e=1
(©) e=0 (D) ex<l

As a general rule, which is the best measure of central tendency?

(A) Mean (B) Median

(C) Mode (D)  Geometric mean
BRI, BHTT TFOT, 0RO [PTIF WRIW [T BIWIHTN?
(A) moOOZO B) =53

(C) wes (D) P08 ZTEZO
The purpose of measures of central tendency is to describe:

(A) The most representative value

(B) The most unexpected value

(C) The most significant value

(D) All of the above

3eOREOD [IRTINY YT ETR) 0IPRTT QTTEHMON:
(A) w9 mé}% TRSAPRE WS

(B) wm¢ [0, ©0esT 233

©C) wxz¢ magp 23e3

(D) DT QIR
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26)

27)

28)

29)

The Governor of Reserve Bank of India 1s )
(A) Sri Shaktikanta Das (B)  Dr. Bimal Jalen

(C) Dr. Rangarajan (D)  Dr. Urgit Patel
5TIT FeOROD ROFT NXIFTT I

(A) &¢ 303 X (B) ol 2IveF moT°
(C) ol Tontexs” (D) ol e DJede®
The main agency providing food grains to the public distribution system is

(A) Food Corporation of India

(B) Karnataka State Finance Corporation

(C) National Agricultural Commission

(D) Ministry of Food & Agriculture

RIERIT DITH [WAN CTOT IR, TRTFOGIS FHD A
(A) 2003T STOT AN

(B) 330Fess oo, TEOTOA ANV

(©) UO%GOSD 3o wodnen

(D) w00 W T BWTOOOD

SIDBI stands for

(A) Small Industries Development Bank of India
(B) State Industries Development Bank of India
(C) Small Institution Development Bank of India
(D) Special Industries Development Bank of India
SIDBI S é)id%ofm

(A) ¢T3 Aey %émaae @apw@@@ ANV

(B) o373 epio édmbsﬁe; eﬁapw@@@ QAN

(C) T3 Aey mi@mﬂ @apw@@p AN

(D) T3z N33R %émaﬁmi @&35@% AN

According to 68" round of NSSO (2011-12) data percentage of
population was below poverty line

683¢ AT NSSO (2011-12) B Tpod — 33w RTFOBZ0
WBII TeadNog FYNTT.

(A) 25.7 B) 219

©) 137 (D) 195
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30)

31)

32)

Inflation leads to

(A) Decrease in purchasing power

(B) Increase in purchasing power

(C) No change in purchasing power

(D) Both (A) & (B)

HEOTNYTLOTRMDT 0T

(A) &m@%ﬁ AR BRI

(B) é\mﬂgp mmc%r ézsamgd

© m@%w mmc;jés- L TOORBOIRNOY DY
D) (A) =) (B) 2TTR

The time value of money refers to

(A) The earning power of an investment

(B) The opportunity cost of capital

(C) The interest earned on investment

(D) The discount rate used to calculate the present value of an investment
TERT BVODNT 5@@5 SPRNTYTICI0TT

(A) TRED N3ed 38 mﬁaqﬁg

B) 20BwST IT0wTO3 ﬁa;d

(C) mREiod DT ALFIov nes

(D) =wetdod TR Z@@e@m& e%é TOTLD WERT O03o0N8E TWT

Two projects are independent if :

(A) Acceptance of one project means rejection of other

(B) Their cash flows are unrelated

(C) They have different hurdle rates

(D) They have different discount payback periods

PO TR FZ0ZONTOR)T:

(A) oYNY RTI &;oa&ro@?%@dd Slalaincolelate 3070
(B) @i SN TOPNTYY oL 0TFITVHOY

(C) ¥ VI, IE TTATD, TBROVTT

(D) © DT, DBPENS LOTOBE WVPNRTR, BROVTI
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33)

34)

35)

According to Boumol the most appropriate goal of the firm in long run is ;
(A) Shareholder’s wealth maximization

(B) Sales revenue maximization

(C) Stakeholder’s wealth maximization

(D) Cost maximization

EPB[RS” THO DEFOFBRONY 20T YVTITS FFBB ¥ DXWEL cﬁéeojaﬁocscﬁ:
(A) eTHTTT xo;-sgmgl ﬁ@%ﬂ@@me@m

(B) R500083 35000 ﬁ@a*%m@m@m

(C) =PLTTT FOTII, ﬁba‘%meﬁm@m

(D) dag ﬁ@a"%m@?m@m

The firm attempts to maximize the difference between

(A) Total cost and marginal revenue

(B) Average cost and total revenue

(C) Total cost and total revenue

(D) Marginal cost and marginal revenue

TN O30 ATBET IT @Oédwm‘{ %a;ﬁm YOTVTT FFEITY @oﬁbé&mgd
(A) 2 mg B AETIVOT BTIVOH

(B) xooxd 52233 WY 2ot BTV

(C) e dzg WY i), BTOD

(D) 2exm003 ﬁagj DB WETIV0Z STIVO

If a firm wished to maximize total revenue, it should produce where :
(A) Marginal cost is zero

(B) Marginal revenue is zero

(C) Marginal cost is equal to marginal revenue

(D) Marginal revenue is equal to price

2.0TD YVTITT FLW) 2, BTN, NOFRAPILD 20NYTOTT, WTT
PBOTH RBeNTHBeBOTT: e

(A) 2ezT03 ﬁz;s; Emsesmﬂdaﬂeﬁa

(B) 2¢=003 &S00 msémﬁd?je&

(C) aez003 da;j@ HIeneplelc @mo:b% ETONT LB

(D) 2ex=3003 STo00) SR BEOTINTLIE®

MP-1176 [10]



36)

37)

Economic Development denotes

(A) Only qualitative change

(B) Social change

(C) Both qualitative and quantitative change

(D) Only quantitative change

BSOS @apwe@@ Q0TT

(A) Bz AVEDEY WHRCORBND

(B) Tow0B3 WTCRRHBNAD

(C) SO[PHRIE Tone TOFOIE WTERTHBNED
(D) Femo TORPTOIT WHROORN

The goal of sustainable development is;
(A) Human development

(B) Conservation of natural resources
(C) Gender development

(D) Allthe above

A‘D%(gp o} @m@% oD M0

(A) TPIS @@w@@p

(B) ﬁéxﬁr% ROTIRLNE ROTTES

(C) Bomwo® @apa@@@

(D) R QTP

38) Population increases at a geometrical ratio says
(A) Thompson (B) Dennison
(C) Notenstein (D) T.R. Malthus
RTHOAJ0IN WeNIecDH PWITRITY HYOIMNRTD 20T OFFDIL
(A) TOT RS (B) céz’ooﬁa@
(C) BRET AT (D) &. =T, m%ﬁ
39) The founder of innovation theory of development is
(A) J.M. Keynes (B) David Ricardo
(C) J.E.Meade (D) J.A. Schumpeter
BATWYTD @&3&@@9 %ma)oéwma O SBRTI
(A) BB, ge (B) Beaw® OTBRF
(C) B.a. e (D) B.». DoewT”
MP-1176 [11]

(P.T.O.)



40)

41)

42)

43)

Critical minimum effort thesis is an extension of the

(A) Theory of innovation (B) Theory of consumption

(C) Big push theory (D) Social dualism

BT TODT, ATROIY 03N ATHOIT VFTE 0TS

(A) ©ITWT %cy%oé (B) wngdeen %)cr%o:%

(C) uz= BTN, %)cr%o:% (D) =ow0s Cgocgé

According to Musgrave, the optimum size of the budget is determined where

(A) The marginal net benefits are zero

(B) The marginal net benefit is maximum

(C) The average net benefit is maximum

(D) The average cost is minimum

SANCD'T TFOT SONBJONT STIF MOZDI), IFF 0T WOTHOTT:
(A) REBROZ ARF VWVTROY BPTEONTON

(B) 265008 Y ©WIROY NOTNTITN

(C) RToA0 QY ©WBROY NOTEENTORN

(D) =ooxd dzg@ BAFONTOON

Which of the following is not a canon of public expenditure?

(A) Canon of sanction (B) Canon of economy
(C) Canon of simplicity (D) Canon of benefit
88 FYNTY PP RO RAB éagcj 33[Y

(A) ONIRTI 3% (B) mzwéom 3%

(C) =Te3oD 3% (D) oDzR030D 3%
Escheats means

(A) Claims of the government to the property of a person who dies without
legal heirs

(B) Special assessment tax

(C) Special cess on estates

(D) None of the above

Escheats ©90%33

(A) RTTWIT WTONT FZRT SA0H HeDT FFoFTT O,

(B) &3eR a@@?smm 30

(C) D3ex =TweecdZ8T 3T

(D) F0edT FPPT ®Y
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44)

45)

46)

47)

What is primary deficit?

(A) Fiscal deficit - internal payments
(B) Fiscal deficit - market borrowings
(C) Total expenditure - total receipts
(D) None of the above

TOFWNT BRTZ Q0TT

(A) Q8o 3RTI - 2@ TR

(B) Q8o 3RTE - R[pTdTE OO
(C) e ﬁz;s; — %D BTOD

(D) F0edT XPPT ©Y

Income tax is based on the principle of

(A) Ability of pay (B) Willingness to pay
(C) Benefitsreceived (D) Cost of tax collection
35003 SOOI O350 3IW, BSHPOAT R0TT

(A) THVICD TFF B) TN faa%@

(C) D3RONS 9336303 (D) 308 Ronz=w dag
Floating exchange rate means :

(A) Currency’s value is allowed to fluctuate according to the foreign exchange market
(B) Currency’s value is allowed to fluctuate according to the demand

(C) Currency’s value is allowed to fluctuate according to the supply

(D) None of the above

30T DATCD TT QOTT -

(A) 0T @@2@ QTS DTV H[ITVTE LTOMOERTON B,3,030OMYTD
(B) Teom &POFF) 3eRIN DTN BI00TMYH

(C) =T :@@2@ QeRBIR DTN B,Z,00TOMYTID

(D) DT XBRPD ©Q

An increase in the real exchange rate for the foreign currency will cause :

(A) The balance of trade will improve (B) The balance of trade will deteriorate
(C) Foreignincome will fall (D) Domestic investment will fall
NTICS TERT 5683 QATCNTTT ﬁz;ﬁ@ommw OO :

(A) RTDT S, mgﬁame@gd (B) =uid oo B0VZTOMITTI
(C) Ted ST 3RO (D) Tedodh TRE 3RF0IPRITTI

MP-1176 [13]
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48) What are capital markets?

(A) Commodity markets (B) Financial markets
(C) Both (A)and (B) (D) None of the above
QOB mdoéééﬁ%e@@?

(A) RoBNS mms@gm (B) o333 mms@gm
(C) (A) == (B) T (D) ReIT XPRPTBR ©Y

49) Special Drawing Rights were introduced by:
IR BRNT TTTY, VOWOWAT:
(A) USA (B) IMF
(C) RBI (D) IDBI

50) Purchasing Power Parity Theory was introduced by

(A) Edgeworth (B) Gustov Cassel

(C) Leontief (D) Dussenberry

BROT %@%@ TOWBE T VI Eocrc()po:fm?\'bol DOWONRATIIZTI

(A) @@w@@r (B) rbmwas @sﬁ)ef

(C) Secsootdesr® (D) c%.raﬁa%@
33 TV
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10.
11.

12.

WRRTRER B3Sned
£.20.5T°. @033 TYD 3R 50 TINTR, BROODT IJRED IRBT T,
TORFEI, DI QETSONT.
BRYTB TF, TATH), ey TOFR G0, TPRILOBIT  DWODE FOWOHATE
ROLVTI, TOHEDRT.
w23 wé%oja mada‘n nlgtclovilelniiiciolovite) DB @)%wgéomozs 8.200.87°. QVZT
m@oﬁaa‘n IBRINA :%ﬁm 8.20.50°. YT TYONY TTRT, [IELIOPTZY, 350850.
3R m%éo&oé Qe ITRJODY DW[INTZY, BOLILD ésaf‘mmcjd, amé St
TR TPOBPTI ATONTY  YVOLRMIT  TOFOTNSTR [0 Jesde
%L BTINTLEED.
TOEEOD FDOLTY:
2  TESOIROTD TIODI, PNRZWOT L.00.
b) T JJoD IR eRI Ty, v SONNYY ©WI0Z BOWPT/ AHTIWT
NZTIR, IGFOR.
C) %087, TRYORYT BOWOHAT T 0N B[ TYTOTTR, FOTREF N BVOWDO.
NTPTTHN, BY, VDY TY, FosS, 83 “C” BOoIRT wwITHNTT, ded /3T toe*
TOONOET T W L.D0.8T. YIT TOYOD T M0, 83 IN0T 38 FYNTOZ
30020:
B %088 B B @ O (T =0F) (2R TOWOET I [P YoTdRN)
emédzﬁ wawgwdéosa 2TZEIROD, (BB 307) T3, BIFONY eBNAT 2D PRTY
mzde SRR (80.00.830°. eméd m%ﬁoﬁa@ mwmdm)
200 ADFF JB 0TIOS ézﬁa mgmwm MOSFRNT T, YOBHT YVZTB/I),
3T RO wam@xmmgd még O3RPTe WOBB, ARBLRNPRY. &.00.85T°.
TPONDT YVTRTBTFH SRCR.
VPR ) BRTR fme%md%ds QOF FHRAT %@GQ 20.20.83T°, TOPOD e Do
TRTLER.
ChTaleny waeiofn J03BT BRTE dvee%mdsaﬁ R 8.00.85T°. VBT T¢I
DJRTIOONT BEODT), 0NN
LB HFOI T3, TFIRI, T 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENLITOTR.
ST, TBewT® DI FRYT FRETY, TOCTY IRTROD ¥t WDTDSTRTDYHOL.
@waro:ba cﬁaa’%édeﬁ éracéﬁdaaj)m %océmodd WOTHZ WPHFODIY, BRCFER
waﬁsé Uom@@@ T DODZNY TroT 0BT LLHFOD LW 553 %m%ﬁmm@m
83 T3 WOegoRY SBETORED 23 50 @osm@ SC/ST/Cat I@&S@Fﬁ% R 8
eﬁo%mfa’n OBC @zﬁ@rmﬁo LR 9 WOBNYIY, m:ég QBT @Zﬁ@&-‘ﬁ% BT, 10
@osnemel wcgofné?%cs%.
£.990.850°. TP, oWy BAWRNA
B3O3ROW TIJR 2.0T3¢ WO WFO0T BLRFTOT/IO0IIT YVITITIT.
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